
ksrdqfr qetzr
.Eq ?qrtf6i qrinl t+t{F {r{rr

E{+6 sFqqr q( * E Er cr.t<. lr<In r1tn f tr$r{r h.cr.H. Ee(c
nft tt.i6 rH mm em fqqcf 6(R ilrr6 c< {Ri6r fr touqRtiu dt rE
losqryno q+ {q ff t{ ri6}qr 6H <{crF illlEl €n qq s k{ losirnlt i6
tosdyns {i {q aqM +.rdr Sjfar slM r(lrkr fu{ {rdrF nf{q r

ncftr<

i) atu : trtdq

!) iQr6 +r{-dr | {ftrd tcq{{r m.rd6 qrq

\e) raer€ h qrq: tosclYnl ?& lo\lqryns (q
E) <{<r< Ei sr{ : * Earcr qr.t{. .itf{ r r<.F rr$r
! <(sr6 tsi {q{ : e.dra 10 i* +{6r Y in {lc r

10) <{sFa {tr(( : iooor
11) <+6 fufr : loqrYnc .ra
1t) cftsr htd : {+5 {tt(iqr nlhe r

1r) cilBr+i t+k{ : itkd rlk6 r

Irr Etr(::*-cq flrr![l I

1)  lcr+ nrnlM e{tft&
l) iiffi q].Rr Ycrq Tfi} sedftir
l) qarr{ qced rrf,+} {i&fr
({q 6Frqrf+1 56 <i efti tn rt cfu 

' \".1+'>" "/
ffiff


